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MATHEMATICS: SUBSTITUTIONS DEMO (D-5)
ADDITION AND SUBTRACTION

Name:

Time:

Score:

1) Simplify algebraic expression
3x — 3x + 92 — O =

Solve for x = 1

a)
b) Solve for x =0

¢) Solve for z = 2
)

Simplify algebraic expression
8 — 2z +0x +2 =

Solve for x = 2

a)
b) Solve for x =1

¢) Solve for x =0
)

Simplify algebraic expression
O9r + 4o —4dr —x =

Solve for x = 2

a)
b) Solve for x =1

¢) Solve for x =0
)

Simplify algebraic expression
10x — 6x + 10z — 6z =

a) Solve for z =1

b) Solve for x =0

¢) Solve for x = 2
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5) Name:

ADDITION AND SUBTRACTION WITH BRACKETS
Time:

Score:

5) Simplify algebraic expression
(92 4+ 2z) + 4 — 62 + (92 — 8x) =

Solve for x = 2

a)
b) Solve for x =1

¢) Solve for x =0
)

Simplify algebraic expression
9—6+ 9z —Tx)+ (4+2) =

Solve for x = 2

)
b) Solve for x = 4

¢) Solve for x =5

7) Simplify algebraic expression
8—1)4+3z—(6—2)+1=

Solve for x = 1

)
b) Solve for x = 3

¢) Solve for z =4
)

Simplify algebraic expression
4—14+ 92 —8x+5bzr)—x =

a) Solve for x = 2

b) Solve for x = 3

¢) Solve for x =0
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5) Name:

ADDITION AND SUBTRACTION WITH BRACKETS II
Time:

Score:

9) Simplify algebraic expression
6z — 6z + (9 + 3z) + 2y — 22 =

Solve forx =0, y = 2

a)
b) Solve forx =0,y =1

¢) Solveforx=1,y=3

10) Simplify algebraic expression
9z — 6x + ((2y + 9x) + dy) — Ty =

Solve forz =1,y =20

a)
b) Solve forx =0,y =8

¢) Solve forx =1,y =28

11) Simplify algebraic expression
92 4+ 8y — 6x —y — (8x — bx) =

Solve forz =1,y =0

)
b) Solve forx =7,y =2
¢c) Solveforz =2 ,y=1

12) Simplify algebraic expression
Oz — 0y + 9y + 92 — 4y + 5z =

a) Solve forz =0,y =14

b) Solve forz =0,y =3

c) Solveforzx=1,y=0
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5)

Name
ADDITION AND SUBTRACTION WITH BRACKETS II1 m
Time:

Score:

13) Simplify algebraic expression
((# +102) — 92) + (8y + 6y) — 10y =

Solve for z =2,y =3

)
b) Solve for z =4, y =0
¢) Solvefor z=3,y=0

14) Simplify algebraic expression
((7z +5z) +52) — Oy — (4o — 0z2) =

Solveforz=1,2=2,y=0

a)
b) Solveforz=1,x=5,y=38

c) Solveforz=0,x=2,y=2

15) Simplify algebraic expression
(7Tx 4+ 3z — 8x) + ((10z + 10x — 9z2)) =

Solve for z =0, x =1

)
b) Solve for z =6, x =0

¢) Solvefor z=6,x =1

16) Simplify algebraic expression
(z +9x + 10y — 4y) + 3x — 9z =

a) Solve forz =2, y=2

b) Solve forz =0,y =1

¢) Solve forx =5,y =0
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5) Name:

ADDITION AND SUBTRACTION WITH BRACKETS IV
Time:

Score:

17) Simplify algebraic expression
3y + (—10z) + 3+ (—6) — (6 — 8) =

Solve forx =3,y =7

)
b) Solveforx =1,y =9
¢) Solveforx =4,y =9

18) Simplify algebraic expression
(1+8x) — 3y + (—1x) + (10x + 2x) =

Solve forx =0, y

a) 6
b) Solveforz =1,y =3

¢) Solve forx =1,y =10

19) Simplify algebraic expression
(2+0—5x+5y)+ (—3) — 6y =

Solve forx =2,y =8

)
b) Solve forx =2,y =7

¢) Solveforx =0,y =0

20) Simplify algebraic expression
(br 4+ (=8z)) =3y + 9z + 2+ (—3z)) =

a) Solveforz =4 y="7

b) Solve forx =4,y =25

¢) Solve forx =5,y =3
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5)
EXPRESSIONS WITH PARENTHESES

Time:

Name:

Score:

21) Simplify algebraic expression
(8x + 6x — 2z) — (92 — 62 X 0) =

Solve for x = 2

)
b) Solve for x = 3
¢) Solve for x =1

22) Simplify algebraic expression

(92 — 9z) + 92 x 0+ (9x) + (Tz) =

Solve for x =7

)
b) Solve for z = 10

¢) Solve for x =9

23) Simplify algebraic expression
r+3r+(0+5+ (b)) — 3z =

Solve for x = 2

a)
b) Solve for x =1

¢) Solve for z =0

24) Simplify algebraic expression
(7Tx — 2z) +9x — 8x + 6x — 8z =

a) Solve for x =2

b) Solve for x =0

¢) Solve for z =1
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5)
EXPRESSIONS WITH PARENTHESES

Name:

Time: Score:

25) Simplify algebraic expression
(8x — 6x) — (6 + 6x) X O0x X Ox =

Solve for x = 4

)
b) Solve for x =1
¢) Solve for x = 2

26) Simplify algebraic expression
(10 +14Te — 7x) — 4o — 4o =

Solve for x = 0

a)
b) Solve for x = 3

c¢) Solve for x =1

27) Simplify algebraic expression
(722 +9 — 8x — Ox) X ba + (72x) =

Solve for x = 4

)
b) Solve for x =1

¢) Solve for z =3

28) Simplify algebraic expression
0+2=+((bxr+10x)) +4dx +x =

a) Solve for x =9

b) Solve for x = 1

¢) Solve for x = 3
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5) Name:

EXPRESSIONS WITH PARENTHESES I1
Time:

Score:

29) Simplify algebraic expression
9—24 ((7Tx — 3z) + ((10x — 8x))) =

Solve for x = 4

a)
b) Solve for x =5

¢) Solve for x =6

30) Simplify algebraic expression
(8+8) x4 x9x+9+2) =

Solve for = 0

)
b) Solve for x = 1

c¢) Solve for x = 2

31) Simplify algebraic expression
(8z x5)=+4)—Te+ (7T—4) =

Solve for x = 2

)
b) Solve for x =1

¢) Solve for z =0

32) Simplify algebraic expression
(2x2xr+x)+(b—-1—-1) =

a) Solve for z =3

b) Solve for x =9

¢) Solve for x = 6
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5) Name:

EXPRESSIONS WITH PARENTHESES III
Time:

33) Simplify algebraic expression
(6x +10) — (22 x 4) — (6 + (=2)) =

Solve for x = 2

a)
b) Solve for x = 6

¢) Solve for x =3

34) Simplify algebraic expression
(6x 4+ 6x + (—=3) + (—2x) — 15 — (—=3)) =

Solve for x =9

)
b) Solve for x = 8

¢) Solve for x = 10

35) Simplify algebraic expression
8x — (—1x) + (0z x (=5) = 19) + (—=10) =

Solve for x = 0

)
b) Solve for x =1

¢) Solve for z = 2

36) Simplify algebraic expression
(24 0z =+ (=7x)) + 0z =+ (92 — 4x) =

a) Solve for z =3

b) Solve for x = 8

¢) Solve for x = 6
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5) Name:

EXPRESSIONS WITH PARENTHESES III
Time:

37) Simplify algebraic expression
(90 =+ (=9)+6)+ (9 — (—1lz)) —8 =

Solve for x = 2

a)
b) Solve for x =9

¢) Solve for x =7

38) Simplify algebraic expression
3+ (—19)) — (—17) + (dxz +9) + (—12) =

Solve for x = 3

a)
b) Solve for x = 1

c¢) Solve for x = 2

39) Simplify algebraic expression
10x x 0z =+ ((z+5—(—1x))) + 6 =

Solve for x = 1

)
b) Solve for x = 3

¢) Solve for z =6

40) Simplify algebraic expression
(0+4)+(—18) + ((3x — (—3x))) — 3x =

a) Solve for z =0

b) Solve for x = 1

¢) Solve for x = 3
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5) Name:

EXPRESSIONS WITH PARENTHESES IV
Time:

Score:

41) Simplify algebraic expression
(9y — Oy) — Ox = ((9z + 6y) — 5y) =

Solve forx =9 .,y =1

)
b) Solve forx =5,y =1
¢) Solve forx =8,y =1

42) Simplify algebraic expression
(7Ty — 0z x 2x) + (y + Oz) — 4y =

Solve for x =5 | y

)
b) Solve forz =7,y

1
1
¢c) Solveforz=1,y=1

43) Simplify algebraic expression
(10y — 8y x 0y) + ((2y — Oy x y)) =

Solve for y =7

)
b) Solve for y =9

¢) Solve for y = 8

44) Simplify algebraic expression
(dy — 3y + 4y) + (3x — Oy +~ (2x)) =

a) Solveforz=1,y=0

b) Solve forz =3,y =0

c) Solveforz=1,y=1
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5) Name:

EXPRESSIONS WITH PARENTHESES V
Time:

Score:

45) Simplify algebraic expression
(102 — 7z +3z) + 0z + 62 + 82 =

Solve for z =0, x =3

)

)
b) Solve for z =0, x =2
¢) Solvefor z=0,x =1

46) Simplify algebraic expression
(02 — 0y — 02) + (82 — 42 + 0x) =

Solveforz=1,x=1,y=7

a)
b) Solvefor z=2,2 =0,y =10

¢c) Solveforz=1,2=0,y=>5

47) Simplify algebraic expression
9 + 3y =+ (92 — 0z) + (3x) — Ox) =

Solve forx =0,y =1

)
b) Solve for x =10,y =1

¢) Solveforz =6,y =1

48) Simplify algebraic expression
(24+8y) —2z+0y+ (32— 2) =

a) Solve for z =8,y =10

b) Solve for z =2 y=1

¢) Solve for z =6,y =0
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5) Name:

EXPRESSIONS WITH PARENTHESES VI

Time: Score:

49) Simplify algebraic expression
(6 x0)x9y = (4x(—4) =

Solve for y = 2

a)
b) Solve for y = 10

¢) Solve for y = 3

50) Simplify algebraic expression
36+ (—4) + (11 =11 —2x)) = (—1) =

Solve for x = 5

)
b) Solve for x =0

c¢) Solve for x = 2

51) Simplify algebraic expression
(6=1)+5y —3x+ (—Tx)+7=

Solve forx =2, y =2

)
b) Solve forx =3,y =3

¢) Solveforx =5,y =26

H2) Simplify algebraic expression
(6y — by) — Oy X 6y x (32y ~4) =

a) Solve for y =5

b) Solve for y =1

¢) Solve for y =3
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5) Name:

EXPRESSIONS WITH PARENTHESES VI
Time:

Score:

H3) Simplify algebraic expression
(1+5y)+3+4 (—6x) — 4z + (—1x) =

Solve forx =4,y =8

)
b) Solve forx =2,y =3
¢) Solve forx =2,y =2

H4) Simplify algebraic expression
(bdr -6+ (—2y)) +1—0y x (=3) =

Solve for x =2, y = 10

)
b) Solveforz =1,y =3

¢) Solveforx =2, ,y=>5

55) Simplify algebraic expression
Y+ 10y + (82 — 3) — 24y + 4 =

Solve forx =1 |y

a) 1
b) Solve forx =0,y =1

¢) Solveforz =0,y =2

H6) Simplify algebraic expression
8z + (—1y) —10) x (0 x 7) + (—18) =

a) Solve for x =4,y =10

b) Solve forx =10,y =9

c) Solveforz =3,y =25
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5)
CHALLENGE

Name:

Time: Score:

H7) Simplify algebraic expression
(0 x (=3x) 4+ (102 + 7z + 30y ~ (=3))) — (72 — (—6x))) =

a) Solveforz=5,2=3,y=3
b) Solvefor z =4, =0,y =3
¢) Solvefor z=10,x=1,y=9

H8) Simplify algebraic expression

(2 + (=32) — (—=10)) x (T+ (=5) = 5—6) — 9 =

a) Solvefor z =6,z =0
b) Solve for z =8, x =4
¢) Solve for z=6,x =25

59) Simplify algebraic expression
(lz+(=7) 4+ (=3y) = (((72+(=8)) +=3)+0) — 5=

a) Solvefor z=6,y=1
b) Solve for z =3,y =1
¢) Solve for z =10,y =3

60) Simplify algebraic expression
6+ (—6)+0x — 152+ (=3)+ (((9+ (=8y) + 52))) =

a) Solveforz=2,2=8,y==6
b) Solvefor z=9,x=1,y=7
c) Solveforz=9 ,x =3,y =28

Mathematics: Substitutions Demo - Set 5 16 ® workulum.com


https://www.workulum.com

MATHEMATICS: SUBSTITUTIONS DEMO (D-5)
CHALLENGE

Name:

Time: Score:

61) Simplify algebraic expression
(7T— (—4z) x (6y x 0 x (10 = Tx)) — 30z +5) =

a) Solveforz =2, y=>5
b) Solveforx =2,y =7
¢) Solve forz =0,y = 10

62) Simplify algebraic expression

(0+(=9) = (=19) = (=72) + (=1) + (22 = 20 = (=0)))) =

a) Solve for z =5
b) Solve for z = 8
¢) Solve for z =3

63) Simplify algebraic expression
60z + (—10) x 0z + 8y — (((422 +7) — 3z) — (—3)) =

a) Solveforz=6,y=3
b) Solvefor z =1,y =1
¢) Solve for z =6,y =2

64) Simplify algebraic expression
1492+ 4 +4) x(=3)— ((2x x (=1) = 2))) =

a) Solvefor z=0,2=06
b) Solve for z =0, x =5
c) Solveforz=1,x =1

)
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5) Name:

TEST 1

Time: Score:

1) Simplify algebraic expression
8r+y+2x— (92 +x) — 3x) =

Solve forx =1,y =9

a)
b) Solve for x =2,y =2

¢) Solve forx =4,y =2
)

Simplify algebraic expression
(4y — (—3) + 0x) — (4 + 4y) + Oy =

Solveforx =1,y =95

)
b) Solveforz =1,y =4

¢) Solve for x =3,y =10
)

Simplify algebraic expression
(49 = (=7) + 27y + 9+ (8+ (=7)) =

a) Solve for y =5
b) Solve for y = 2

¢) Solve for y = 3
)

Simplify algebraic expression
(0% (=9) = (=32))) = 7) = (22) =3 — (—2y) x 0 =

a) Solveforz=5,z=3,y=1

b) Solve for z=2,x =6,y =10

c) Solveforz=7,x=9,y =10
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5)
TEST 2

Name:

Time: Score:

1) Simplify algebraic expression
(22 —z) = ((9y —y —8y)) + Ty =

Solve forx =2 | y

a)
b) Solve for x =7,y

1
|
1

¢) Solve for x =5,y =
)

Simplify algebraic expression
(dy —(—2))—H—14+(149) =

Solve for y = 3

)
b) Solve for y =1

c¢) Solve for y =5
)

Simplify algebraic expression
(9y —2) + (0% (=5)) + (3 x (=10)) =

a) Solve forz =10,y =1
b) Solve forx =0,y =1

¢c) Solveforz=1,y=1
)

Simplify algebraic expression
22+ 8+ (—2) x (302 = (—6)) x (((4 x (—2y) — (—6)))) =

a) Solve for z =0, y

b) Solve for z =0, y

3
8
0

c¢) Solve for z =0,y

Mathematics: Substitutions Demo - Set 5 19 ® workulum.com


https://www.workulum.com

MATHEMATICS: SUBSTITUTIONS DEMO (D-5) Name:

TEST 3
Time:

Score:

1) Simplify algebraic expression
((10x 4+ 8y) — 10z + Ty — (dy — 2y)) =

Solve for x =10, y =1

a)
b) Solve forx =4,y =1

¢) Solveforx =7,y =0
)

Simplify algebraic expression
104 (—10)+ (8y — 6x + 15+ 3) =

Solve forx =5,y =14

a)
b) Solve forx =5,y =3

¢) Solve forx =6,y =2
)

Simplify algebraic expression
(br — Oy — 4x) x 64 +8 — 3y =

a) Solve forx =2, y=28
b) Solve forx =4,y =28

¢) Solveforx =3,y =25
)

Simplify algebraic expression

(22 — 8z — (8 x By) + 10) x 0 X (—2)) + 10z =

a) Solveforz=2,2=0,y=10

b) Solveforz=1,2=0,y=1

c) Solveforz=0,x=0,y=>5
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5)

SOLUTIONS
1 2 3 4
9z Tz 8z 8z
a)9 a) 14 a) 16 a) 8
b) 0 b) 7 b) 8 b) 0
c) 18 c)0 c)0 c) 16
5 6 7 8
6x + 4 2z +9 3r+4 5z + 3
a) 16 a) 13 a) 7 a) 13
b) 10 b) 17 b) 13 b) 18
c)4 c) 19 c) 16 c)3
9 10 11 12
10x + 2y 122 Ty 14z + by
a) 4 a) 12 a) 0 a) 20
b) 2 b) 0 b) 14 b) 15
c) 16 c) 12 c) 7 c) 14
13 14 15 16
4y + 2z T+ 122 12z + 2 4z + 6y
a) 16 a) 14 a) 12 a) 20
b) 8 b) 17 b) 6 b) 6
c) 6 c) 2 c) 18 c) 20
17 18 19 20
—10z 4+ 3y —1 192 -3y +1 —bhr—y—1 3z — 3y +2
a) -10 a) -17 a) -19 a) -7
b) 16 b) 11 b) -18 b) -1
c) -14 c) -10 c) -1 c) 8
21 22 23 24
3z 0 x 4z
a) 6 a) 0 a) 2 a) 8
b) 9 b) 0 b) 1 b) 0
c) 3 c)0 c)0 c)4
25 26 27 28
2z 2z 0 4
a) 8 a) 0 a) 0 a) 4
b) 2 b) 6 b) 0 b) 4
c) 4 c) 2 c) 0 c)4
29 30 31 32
9 4r +2 3z +3 7
a) 9 a) 2 a) 9 a) 7
b) 9 b) 6 b) 6 b) 7
c)9 c) 10 c)3 c) 7
33 34 35 36
—2x + 13 2z —12 9z — 10 2
a) 9 a) 6 a) -10 a) 2
b) 1 b) 4 b) -1 b) 2
c) 7 c) 8 c) 8 c) 2
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5)

SOLUTIONS
37 38 39 40
r—3 4o —2 0 -3z
a) -1 a) 10 a) 0 a) 0
b) 6 b) 2 b) 0 b) -3
c) 4 c) 6 c)0 c) -9
41 42 43 44
9y 4y 5 3z + by
a)9 a) 4 a) b a) 3
b) 9 b) 4 b) 5 b) 9
c)9 c)4 c) b c) 8
45 46 47 48
3z 4+ 17z 4z 10y 8y +z
a) 9 a) 4 a) 10 a) 8
b) 6 b) 8 b) 10 b) 10
c) 3 c) 4 c) 10 c)6
49 50 51 52
0 9 —10z + 5y + 13 y
a) 0 a) -9 a) 3 a) 5
b) 0 b) -9 b) -2 b) 1
c)0 c) -9 c) -7 c)3
53 54 55 56
—11x 45y + 4 9r — 2y +1 8x + 5y —3 0
a) 7.56366e-124 a) -1 a) 10 a) 0
b) -3 b) 4 b) 2 b) 0
c) -8 c)9 c) 7 c)0
57 58 59 60
—62 — 10y 4+ 10z -9 —3y+z2z-9 or — 8y + 95z + 8
a) 2 a) -9 a) -6 a) 10
b) 10 b) -9 b) -9 b) 2
c) 4 c) -9 c) -8 c)4
61 62 63 64
—6x + 7 8y—32—-3 204+ 10z -2
a) -5 a) 0 a) 3 a) 10
b) -5 b) 0 b) 2 b) 8
c) 7 c)0 c) -5 c) 10
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5)

SOLUTIONS: TEST 1

1
3z +y —4x +3 3y—7 -3
a) 12 a) -1 a) 8 a) -3
b) 8 b) -1 b) -1 b) -3
c) 14 c) -9 c) 2 c) -3
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5)
SOLUTIONS: TEST 2

1 2 3 4
x4+ Ty 4y -7 —x + 9y —160yz + 1222
a)9 a) b a) -1 a)0
b) 14 b) -3 b) 9 b) 0
c) 12 c) 13 c) 8 c)0
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MATHEMATICS: SUBSTITUTIONS DEMO (D-5)

SOLUTIONS: TEST 3

1 2
13y —6x + 8y + 18 8x — 3y 10x
a) 13 a) 20 a) -8 a) 0
b) 13 b) 12 b) 8 b) 0
c)0 c) -2 c)9 c)0
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